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B Ty oA kWO E O E B one/l 0. 1UTF <0.01 < 0.01
v 7 v 1t & | me/1 1T <o.1 <o.1
f % i b & | me/l 1LLF <0.1 <0.1
ook w2 o & A& | me/l 0. 1UTF <0.01 < 0.01
Ao oz v oa i A& | men 0. 5UTF < 0.05 < 0.05
mwoH &k O o { & | me/l 0. 1UTF <0.01 < 0.01
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7o ® o ok b A& B me/l M Ssh2no ok < 0.0005 < 0.0005
KU o v 7 o= = A mgl 0. 003LLF < 0.001 < 0.001
kv sy owm o om o= F oL v omg/l 0. 3LTF < 0.001 < 0.001
F r 5 s m v = F L | myl 0. 1UTF < 0.001 < 0.001
D4 s = o A 5 | mg/1 0. 2LTF < 0.02 < 0.02
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o kO x o fe A | mg/l 2LF 0.04 0.03
kO o A& W (W 8L m/l 10LF <10 < 1.0
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